MATH1040 Practice questions 9

1. Answer each of the following questions, showing all working.

(a) If y = —3x + 3, use limits to find y'.

(b) If y = —22% — 2, use limits to find y'.
(¢) Find ¢’ where y = —4x + 6.

(d) Find 3’ where y = —2% + 6x + 5.

(e) Find y' where y = 623 — 522 + 6z + 3.
(f) Find y’ where y = 427 — 32° + 223 + 3u.
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(g) Find ¢ where y = 222 +5+ 6 =.
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h) Find ¢ wh =—r——+—+ —.
(h) Find ¢’ where y x x+x2+x4
(i) Find ¢’ where y = sinz + 4cosx — 4+/x.

(j) Find ¢’ where y = 61lnx — 6e®.

(k) Find y’ where y = 5z° — 3 +2cosz — 3sinz + 34/x.
x

2. Answer each of the following questions, showing all working.

(a) If y = —2x + 5, use limits to find y/'.
(b) If y = 2% + 5, use limits to find y'.
(c) Find ¢y’ where y = 5z — 3.

(d) Find 3’ where y = 422 — x + 4.

(e) Find 3 where y = 23 — 522 + 3z + 6.
(f) Find y’ where y = z* — 423 + 622,
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(g) Find ¢’ where y =322 — 1+ =~ — =
x
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(h) Find y’ where y = 5z — = + e

(i) Find ¢ where y = —6cosz + 4sinz — 5/x.
(j) Find y’ where y = —6e* —51nx.
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(k) Find y’ where y = —42? — = + 6e” + 4cosx — 6sin z.
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3. Answer each of the following questions, showing all working.

(a) If y = 4 — 2, use limits to find y'.

(b) If y = 222 + 1, use limits to find y'.
(c) Find ¢’ where y = —z — 3.

(d) Find 3’ where y = —222 + 4z — 6.

(e) Find y where y = 23 + 422 — bz + 2.
(f) Find ¢ where y = 42% — 622 + 3z + 5.
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(g) Find y where y = 52% + 14 = — —.
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(h) Find ' where y = 6z* 4+ 62° -1 - — — —.
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(i) Find y’ where y = —3sinz — 5cosx — 4/x.
(j) Find y’ where y = 41nz + 5e”.
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(k) Find y’ where y = 523 — = — 6y/x + 3¢ — 2sinz.
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4. Answer each of the following questions, showing all working.

(a) If y = 5z — 2, use limits to find y’.



(b) If y = 522 — 1, use limits to find y/'.

(¢) Find y’ where y = —4x + 1.

(d) Find 3’ where y = 522 — 3z + 5.

(e) Find y’ where y = —2® + 522 — 5z + 4.

(f) Find ¢ where y = 22 + 321% — 227 — 22% + 3u.
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(g) Find ¢/ Wherey:2x2—4——+—2_
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(h) Find y" where y =6 — — + —.
T

(i) Find y’ where y = —4cosz — 5sinx — 5/x.
(j) Find ¢ where y = —4¢® — 31Inz.
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(k) Find y’ where y = —522 — — + 4sinz + 4e” + 3./.
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5. Answer each of the following questions, showing all working.

(a) If y = =5z — 3, use limits to find y'.

(b) If y = 422 — 3, use limits to find y'.

c) Fin where y = 2z — 3.

(c) Find ¢’ where y =2z — 3

(d) Find 3’ where y = 622 + 5z — 4.

e md y° where y = —6x° — 4x* + 6z — 0.
Find y wh 62> — 422 + 6 6
1 where y = 625 — 523 4 5.

(f) Find y" where y = 62° — 523 + 5
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(8) Find yf where y =22 + 3+ 2 + —.
r
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(h) Find ¢’ where y = o % -

(i) Find y’ where y = —2cosz + 5sinx — 24/z.
(j) Find y’ where y = —6e* — Inz.
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(k) Find 3’ where y =222 + — +5Inz + 4sinz — 6./7.
x



